Spring 1974

‘THE TENSE CARRIER IN TWG
JH-SENTENCES

KINDS OF

by Yao Shen

- The significance of the positional relation
of the tense carrier to the subject of the
sentence in the formation of simple
affirmative sentences, simple negative
sentences, and tag-questions has ‘been
demonstrated in two previous articles (TESL
Reporter, Vol. 7, No. 1 and No. 2). This
same relation is significant in still another
group of seniences which are the wh-
sentences.. Fach of these sentences begins
with ‘a wh- word. The two kinds of wh-
sentences under study are the wh- questions
and the wh- statemenis. In each case, the
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wh- word occurs in the predicate of the
- sentence; and because of that, the wh- words
meluded are: what, who({m), whose, which,
where, wher, wky, and how; who, wmeh

occurs as the ‘subject of _the Sentenee is

excluded. Examples used are - affirmative
sentences, | 5 -
A wh- 'qitestien is formed in two- steps.

The first oné is the formation of a simple

yes-no . question distinctive - by the tense

carrier {T) occwuring before the subjeet (S)

of the sentence, T+S

a. Is . John = stodying? |
b. "Was ° ~ Mary leaving?
c. Has . Paul  been tesehmg"
d Is _Altce - reading?

e. Can Joe ™  find the answer‘?
f. Wil Mark  tell you? '

g. - Would . Bob ~ have to know?
h. Was

Pat informed? = :
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The second step is the occurrence of a2 wh-

word before the yes-no question, Wh-+T+5,

P he e ot

Wh- + T+ S
What .is  John studylng'?

. Who(m) was Mary leaving? .
Whose(class)has Paul been teaching?
Which(book)is  Alice reading?

Where can Joe find the answer?
When will Mark tell you?
Why wouldBob have to know?

. How Pat

was “informed?

A wh- statement is also fnrmed' in f{wo

_steps. The first oneis the formation of a

simple statement distinctive. by the tense
carriér occuring sfter the subjeet of. the
sentence, ST,

.S '+ T '_ | .
. John 15 . studying.
. Mary was.  leaving.,
Paul “has’ - . been teaching.
Alice s . reading. . -
Joe o can . find the answer.
- Mark will - . tell you.
"Bob would have to know,
. Pat infﬂrmed

R S0 0 o R

- was

The second step is the eccurrence ef a wh

word before the statement Wh +S+T

Wh-- -+ T+ § _

When will they knew semethmg"
.Wh-'-'*+S+T'

a. What John is studyi_ng_

b. Who(m) ~ Mary was = leaving

¢...Whose(class)Paul has.  ..been -teaching
d. Which(boek)Alice is - reading |
e. Where Joe can ~'rﬁnd the answer
f. When = Mak will  tell you .

g. Why "~ Bob _we'ulq' have ' to. know

h. How - - Pat was . informed:

from each other in two ways.

The two kinds of wh— sentences dlffer
First, they -

are distinctive ‘according to' the position
- of the tensé carrier, that is, whether it pre-
cedes or follows the sub]eet of the sentence.

. eentmued on pa_ge 8 }
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TENSE CARRIER IN WH- SENTENCES
(continued from page 3}
Second, a wh- statement ﬁ@rma]ly occurs as a com-

Example 2.
stituent sentence embedded in a matrix sentence that may - |
be either a statement or a question. In the-following two T P
examples, each matrix sentence in which the wh- state- - | .9
ments? are embedded is a statement, S + T. In the first g’;ﬁ% P | ih;}’ know something?
example, the wh- statements are the subject of the matrix 2 What John i - studvi
sentence, in the second, the object. b Who (1m1) Mary was 1&3?11111;3
Example 1. ¢. Whose (class) Paul has been teaching
S -+ T d. Which {(book) Alice is reading
Somethmg B would be recorded. e. Where Joe can find the answer
| Wh- + 8§ . T | f. When Mark will tell you
a. What John is studying g. Why Bob would have to know
h. Who{m) Mary was feaving . h.- How Pat was informed |
¢. Whose (class) Paul has - been teaching | |
d. ‘Which (book) Alice is reading
¢. Where Joe can  find the answer - In the following two examples the wh- statement are
f. Woen  Mark will -~ tell you einbedded in wh- questions, Wh+ T + S. |
g, Why Bob would have to know
h. How . Pat was informed Example 1.
| | Wh- +T +S
Example 2. | - Why would something be recnrded‘?
S + T | | Wh- +S +T -
They | will know samethmg . ‘2. What Iohn. - is studym |
Whi- + S + T - vl I
. - b. Who(m) - Mary was leaving
a. What John is studying c. Whose (class) Paul has been teaching
b. Who(m) Mary - was  leaving d. Which (book) Alice - is  reading o
C. Whg}se (class) Paul -  has bee¢n teaching. e. Where Joe can find the answer
d. Which (bﬂﬂk) Alice 18 I'EH.dIﬂg - £ When . Mﬂl’k will tell 'yclu | .
| ? %m B g;aek ﬂaﬁ, | ﬁnid ‘the answer s. Why - Bob would have to know
.- When viark = wi tell you : | | : -
g. Why ~ Bob would have to know . How | bat - Was 11.11f0rmed
" h. How Paf was informed . Example 2.
A wh statement may be embedded in 2 matrix sentence Wh- +T +3
that is either a simple yes-no question or a wh- question. | - When - will. . they know ‘something?
In the foliowing two examples the wh' statements- are ‘Wh- + S +T '
embedded in yes-nﬂ questmns T+ S. a. What John 15 stiudying
- bh. Who{m) Mary was  leaving
Example 1. ~¢. Whose (class) Paul - has been teaching =
" o ~'d. Which (book) "Alice is ' reading
T L 3 e. Where JToe can find the answer
Would - -something be reearded‘? f. When Mark . will.  _tellyou |
Wh- - . +8 -+ T - g.. Why ~ Bob would * have to know - -
a.- What - ~ John s : studymg h. How - Pat - was - informed -
b. Who{m) Mary - was . leaving _ |
c. Whose(class) Paul . -~ has. = been teachlng 7 _Only aifirmative wh- sentences are used. here,, negatwe
- -d. Which (book) Alice ' .is - reading: - - o ones are not. ‘The reason is that the position relation of
e. Where Joe can.  find the answer - - - the tense carrier and the subject of the sentence .that
f. When Mark - will teliyou . = -~ - o d1stmgu15hes an afﬁrmatlve wh- questmn and an affirma-
g Why " Bob . wnuld havetoknow .. -0 tive whe statement is the same- as that which distinguishes
‘h, How -~ Pat =~ . was - mfﬂrmed e T 4 slrnple afﬁrmatwe (ye&nn) qHEStlE}Il and a su'nple _‘



- Statement

- In the case of a negative wh- question, a
) -wh— word prece des a simple negative (yes-no)
| in. -the case of a negative wh-
. statément, a . wh- werd preeedes a simple
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affirmative  “statement; the difference - - Affirmative
‘between each set of sentences is the presence ~ Question Wh-+T+S§
and absence of the initial wh- word, This is ~ Statement Wh-+  S+T
similar to saying that a wh- sentence is one ' Nggmwe I
that begins w:th a wh- word. In the case of *  Qyestion  Wh-+T+neg+S
an affirmative wh- a?uestien a wh- word  Giaterment Whe + S+ T + neg
precedes a simple affirmative question; in

~the case of an afﬁnnatwe wh- statement, a
wh- word precedes a simple afﬁnnetlve
statement

- W:theut wh-

~ Question T+S

Stafement_ S+T
With wh- |

- Question Wh- + T+S

Stetement Wh- + S+ T

 In the fermatten of a elmple negative
sentence, question or

syntactic relation of the negative mdmater

" not or-n’t, is with the tense carrer. Nelther .
" not nor n’t

precedes the tense carrier; it
- follows it, though not always successwely '

The fermat:ten of a simple negative sentence,
question or statement, is. the samie as that of
“a simple . affirmative one; the ‘difference
between each set.of sentenees is the presence
or absenee ef the negative indicator, neg.

Afﬁrmerwe
,QueSt-ien T +neg+ S -
Statement - S+T.
D . Negative o
~ Question neg+ T+S S
. 8+7T +neg

©. question;

| . -negatwe statement. -
S |  Without wh-

" -.Queetieﬂ-. T+ neg +8S :
- Statement S S +T +neg -
. " With wh-
~ Question - - Wh- +T+neg+S o .
- Statement . Wh- + S+T+ neg

A negatwe wh- sentenee question or
. Statement, can ajso be said to be formed the
‘same way as an affirmative wh- one is; the
difference between each set of sentences is

the presence end ebsenee of the negative
"mdleater | o o

statement, the

- Statement - Wh-+

. carrier precedes- the suhjeet
| etatementl_ the tense carrier - follows -the

Wh- +T+S

The following summarizes the formation
of wh- sentences, question or statement,
affirmative or negative. Each wh- sentence
finds its base in an effi:rmatwe sentenee

without wh-. Without wh. . .
Affirmative: o
Question . . T+S
Statement o S +--T
- Negatwe
Question - T+neg+8§
Statement S+T+neg
DA - With wh.
Affirmative.
Question  Wh-+T+ S .
~ Statement Wh + S+T
- Negative
Question Wh-+ T+ neg+S

b+T+neg

Regardless of whether a wh« sentence is-

".afﬁnnatwe or -negative, the feature that
- distinguishes the two kinds of wh- sentences
~with the wh- word in the predicate (and that

is also. our focus of attentlen in this article)is

. the positional relation of the tense carrier
and the subject of the sentence,

It is that in a wh- ‘question the tense
in a wh-

subject. |

questmn )

-Wh + S + T = statement

And “this - is “the seme relation that
distinguishes simple affirmative sentences,

'mmple negative sentences, and tag-questlens
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